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QL. WHAT I: $& @Yy Ufa=rd, afd &l T &1 Ha T &R g1 TH JC 20% aH W gt
STt & SR gERYT 10% BT IR 9 9Kt g

HET 11: TS Hiex &l sa4 # 3ifold foear mar @y, afe fedt wus & 20 Hiex &) s9A
 foar T 1Y, ST FUS F 5 Hiek & g Jod & SRIeR gidl 5

(a) HHATL > AT

(b) AT < A

CEEIELIED

(d) G < HHEATI

(e) AT = HET T 15 T&Y Tal
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Q2. G §81 YA T PR da Dl 7 YT & PR drcll TIdR ddbel 9
HIeT ST B

HEAT I: 96 &) Bled & &I AV 9 BT 3Ma
AT I1: 98 &1 Bled & a6 AV O $T g8 &% |
e G AmErsl o aRYTor &t gaT B

(a) HIEAT > HIEATII

(b) HHATI < A

GEIEIELIENN

(d) T < HETI

(e) | = HEMI T BT Ja¢ ol
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Q3. AETL: Y & AF. T §d- | 2.5 dlex HT 3R 10 Tex g &1 & &I 20% IWRh
& fAera fgar ST 81 QW Ireh § ol SR gY & SIUTd @Y I (reverse) & AT x
dfex gt foraman St g1 fR ot IR QY & SUTd & GIRT SdeH (reverse) & fad
fopR & y ofiex gu fyeman o 1

AT I1: 120 TICR.

(a) | > AT

(b) A < HEAI




(c) HIMEATL = HIATII

(d) HIEAT < HIEATI

(e) AT = HEAT T HIs T&Y Tal
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Q4. P TH B & 16 el T T HR Ihd € S Q, 32 &1 H T & Thal g1 P 3R Q
& eud el )R S avd B

AT I: A P, U8 & ¥ &1 Y& oxdl § df S R B & T 390 gRI1 foran
Jr |

AT 11: TS Q U8 &7 ¥ &1 Y[E oxal § al B R B & oY 390 gRIT forar war
JH |

(a) HIATL > AL

(b) | < A

(c) | > A

(d) | < A

(e) TN = AR T P13 &Y T8
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Q5. HHEIL: p? — 18p + 77 = 0, p I HI.
HHEATIL: 3g? — 25q + 28 = 0, gohl HI.
(a) HIEAT > HHATII

(b) HIAT < HIEATII

(c) HHEAT = HIEATI

(d) HIAT < HIATI

(e) AT = HET T 15 T&Y Tal
L1Difficulty 3
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Directions (6-10): FGIRIT Team 4@ O Usardsd fRIg (7) & R W &1 G+ ST

Q6.7, 20, 46, 98, 202, (7
(a) 420

(b) 410

(c) 310

(d) 320

(e) 450

L1Difficulty 3
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Q7.210, 209, 213, 186, 202, (7)
(a) 138

(b) 77

(c)177

(d) 327

(e) 322

L1Difficulty 3
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Q8. 567, 295, 159, 91, 57, (7))
(a) 27

(b) 29

(c) 30

(d) 39

(e) 40

L1Difficulty 3
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Q9.45, 186, 283, 344, 377, (?)
(a) 397

(b) 387

(c) 390

(d) 380

(e) 405

L1Difficulty 3
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Q10.10, 6,12, 35, (7), 591.75

(a) 130

(b) 129.5

(c) 127.25

(d) 133

(e) 224.25

L1Difficulty 3

QTagsMISSING SERIES Quant
QCreatorDeepak Rohilla

Directions (11-15): TN # & T8 AMGR &1 eOFYdD g BT 3R U & IR



TP M H U YT = o SFRe 8. 20% SMETel (41 - 60) aY & 3 GHE & S
DI §, AT 3T BT 25%, 20 T8 I HH Y THE & d1d 5. AN ATEET (20 - 40) T &
3T THE & o1 Bi §. (20 - 40) T 3R TG DI H MATS! BT 80% R (41 - 60) T
3T T BT 60% HAdH §. 20 TN I HH MY TIg &I Hd AEIe! BT 75% 3t off 1 9
12 ef a o1 fafts wemsf & ug 3B §.

$d Al off WIa® ¢ d 3 TAraiedl o i, @a, I & o =nfia 8. (20-40) as
DI Y TG BT 40%

Had Gilid T M €, 25% Had Wd H 3R Y oHad I § A §. 20 T4 J HH Mg
® P IAMEE 10,000 §. 60 T ¥ SR Pis Afad el 8. (41-60) 3 THE & Afad
Fad anT i €.

Q11. FA TGS S FAP 8, 37 $o WP Afad DI BT off Had TNd 3R Had Wd
H U 91y A §, BT
foram wfa=rd 82

4
1325%

(a)
(b)
(c)

(d) Can't he determined
(e) 1889
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Q12. 3MaTd Pt pat Tam o oieft oft 1 ¥ 126 wen a% fafvw wenst # ug I §, I
Hd ST S had AT B M 8 § foraq vfawra oifie a1 %1 § (1H)?

(a) 54% HH

(b) 48% 3Hf&IdH

(c) 48% HH

192"%

198 %




(d) 42% 3Hi%h

(e) 58% P H
L1Difficulty 3
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Q13. Had Tid # 3R Had WA | TH I WS Hfaqdl & $a =1, TMa B Ha
3{TeTet B fobem
gfo=Td 82

(a) 3.12%

(b) 28.2%

(c) 31.2%

(d) 38.2%

() 37.2%
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Q14. AfE (20 - 40) T 3R (41 - 60) TS MY UG &I SHuE & To¥ &1 ARGars
3JUTd SHHR: 3 : 2

3R 3: 1% 3R (20-40) I9 3N T P! 35% AR glb! Werah & 3R (41-60) T
31T GG DI 36%
w%@m%aﬁwmmﬁw@qwmmﬁaw
(a)8:21

(b)11:3

(€)23:9

(d)21:8

(e)14:9
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Q15. Had Wiid # 3R Had W H T 1Y M Afad I $a AT, Had aiT #
M et B Fot We I fran ufawrd $ifie a1 &1 g2

(a) 25/3% 3Hf&H

(b) 25/3% HH

(c) 35/8% 3ffdh

(d) 25/9% HH

(e) 25/8% 3Hf&dH

L1Difficulty 3
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Solutions

S1. Ans.(b)
Sol. Quantity 1: Let C.P. of both shirts be Rs. 100
Total C.P.=Rs. 200

Total S.P. of both shirts = 1.2 x 100 + 0.9 x 100 = Rs. 210

Overall profit = % x 100 = 5%

Quantity 2 : Let C.P. of one-metre cloth be Rs. x
And S.P. of one-metre cloth be Rs. y

Then,
20y — 20x = 5x
=20y = 25x
y 5
>= ==
x 4
Profit% = x 100 = 25%
Quantity 2 > Quantity 1
S2. Ans.(b)
2
Sol. Quantity 1: Volume of cube left=73 — (2) X7
_ 343 22 y 49 x 7
B 7 4
= 343 — 269.5
=73.5 cm3
7\2 7
Quantity 2 : Surface area of cube left=6 x 72 — 2.7 (E) +2r (E) 7
= 294 —77 + 154
=371 cm?

Quantity 2 > Quantity 1

S3. Ans.(e)
Sol.

Quantity 1: Liters of milk removed = % X 10 = 2 Itr.

Liters of water removed = § X 2.5 = 0.5 Itr.

2+x_4
8 1
=>x =30
32 1
_:_:>y:128—8= 120 Itr.
8+y 4

Quantity 2 : 120 Itr
Quantity I = Quantity II.

S4. Ans.(b)



Sol.

Let, total units of work be 32 units

Then P does 2 units per day.

& Q does 1 unit per day.

Quantity 1:

3 units are done in 2 days.

30 units are done in 20 days.

On 21stday P does 2 units and work gets completed.

Quantity 2 :

3 units are done in 2 days

30 units are done in 20 days.
On 21stday Q does 1 unit work.

P completes the remaining one unit in another % day
Total days = 21 %
Quantity 2 > quantity 1

S5. Ans.(c)
Sol. Quantity 1: p2 —18p + 77 =0
>p2—1lp—7p+77=0
=@-1D@E-7=0
S>p=11,7
Quantity 2: 3q%> — 25q + 28 =0
=3¢2—21g—4qg+28=0
= (Bq -4 (q —47) =0
=>q= 7,3
Quantity 1 > quantity 2

S6. Ans.(b)

The pattern of the number series is :
Tx2+6=20

20x2+6=46

46 x2+6=938

98 = 2+ 6 =202

202 x2+6=404+6 =410
Sol.

S7. Ans. (b)



The pattern of the number series is :

210-1% =209
209 + 2% =213
213-3* =186
186 + 4% = 202
202-5%=202-125=77
Sol.
S8. Ans.(e)
Pattern is -272, -136, -68, -34, -17
~?7=57-17=40
Sol.
S9. Ans.(c)
Series is
45, 186, 283, 344, 377, [390
I | | I |
+141 +97 +61 +33 +13
I | I | |
Sol. -11=4 -9x4 -7Tx4 -5x4
S10. Ans.(b)

The pattern is:
Xx054+1,x15+3%x25+5x35+7.......

=35x3.5+7=1295
Sol.

S11. Ans.(b)
Let total population of village = x

fx X % 22 = 10,000
100~ 100
= x = 50,000
Population of age group (41 - 60) years
= =2 % 50,000
100
= 10,000
Population of age group (20 - 40) years
= 50,000 - (10,000 + 10,000)

Sol. 30,000



Total no. of population who are graduate
=80 50

=== (30,000) + 10,000 X —

= 30,000

Total no. of persons who are involved in
music and sports only

=20 % 30,000 x =
100 100
= 15,600
. _ 30,000

.~ Required percentage = 15600 x 100
= *
=192 13 O
S12. Ans.(c)

Let total population of village = x

fx X x 22 = 10,000

100 100
= x = 50,000

Population of age group (41 - 60) years
= 22 % 50,000

100
= 10,000
Population of age group (20 - 40) years
= 50,000 - (10,000 + 10,000)

Sol. 30,000

Total no. of persons who are still studying in

various classes from 15tto 12th
75

=— x 10,000
100
= 7,500

Total persons who involved in yoga

=2 % 30,000 x 2= + 22 x 10,000
100 100 100
= 8,400 4 6,000
= 14,400
~ Required percentage = 22400°7590 % 100
14,400
— 575
=5 = 489% less

S13. Ans.(c)



Let total population of village = x

fx XL x 2= = 10,000
100 " 100
= x = 50,000
Population of age group (41 - 60) years
=22 x 50,000
100
= 10,000
Population of age group (20 - 40) vears
= 50,000 - (10,000 + 10,000)

Sol. 30,000

Total person who involved in music
and sports only

=2 x 22 % 30,000 + = x - x 30,000
100 " 100 100 " 100
= 15,600
. _ 15,600
.. Required percent age = 0.000 = 100
=31.2%
S14. Ans.(d)

Let total population of village = x
fx X2 x 22 = 10,000
100 * 100
= x = 50,000
Population of age group (41 - 60) vears
=2 x 50,000
100
= 10,000
Population of age group (20 - 40) years
= 50,000 - (10,000 + 10,000)
= 30,000
Sol.

Total females of age group (20 - 40)
years who play hockey

=2x 2= x 30,000
5 100
= 4,200
Total females of age group (41-60)
years who do not play

Ludo == X == % 10,000
4 100
= 1,600
21

. .4z
~ Required ratio=—= —
16 8

S15. Ans.(a)



Let total population of village = x
fx X x 22 = 10,000
100 " 100
= x = 50,000
Population of age group (41 - 60) years
=2 % 50,000
100
= 10,000
Population of age group (20 - 40) vears
= 50,000 - (10,000 + 10,000)
Sol. ~ 30,000
Total persons who involved in music and
sports only = 15,600
Total persons who involved in voga only

=2 2 % 30,000 + = x 10,000
100 © 100 100
= 14,400
~ Required percentage = 15.600-2449% % 100

14,400
1
=5 3 36 more



